
INSTALLATION INSTRUCTIONS 
ONKI MODULAR BRUSH GUARD – PART #647004 04-06 

NISSAN Armada/Titan 

Parts List (Please check that you have all the parts listed below before you start installing) 
Quantity Description 
     2 Mounting brackets 
     2 Connecting brackets 
     4 M8 X 30 (10mm hex head bolts) 

 4 M12X40 (19mm hex head bolts) 
     4 M12 Nylon lock nuts (19mm socket nuts) 

 8 ½” Washers 
     4 M12X1.25X50 (tow hooks replacement bolts) 
Installation of Mounting Frame Brackets & Brush Guard 

1. Identify left and right brackets to be used (D for driver side / P for passenger side).
2. Open hood to remove front hood grille. Locate and remove 7 plastic rivets along the perimeter of the grille by

using a flat head screwdriver, then gently pull the grille off the vehicle.

3. Locate and remove 2 bolts on top of the bumper (left and right). Install connecting brackets with supplied M8 x30
bolts.

4. Remove factory tow hooks to install brackets with supplied bolts.

5. Install brush guard to brackets and with supplied nuts and bolts and washers.
6. Adjust and securely tighten all bolts and nuts.

http://www.carid.com/onki/
http://www.carid.com/grill-guards.html

